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1. The central problem of economic

system is :

(A) Allocation of resources

(B) Economic welfare of common

citizens

(C) Selecting right system of

economic planning

(D) Achieving the goal of maximum

social welfare

2. Which of the following is not a trade

block ?

(A) Commonwealth of Independent

States (CIS)

(B) Asia Pacific Economic

Cooperation (APEC)

(C) South Asian Free Trade Area

(SAFTA)

(D) Asian Union for Economic

Welfare (AUEW)

1. vkfFkZd O;oLFks iq<hy e/;orhZ leL;k

vkgs %

(A) lalk/kukps vkoaB.k (okVi)

(B) loZlkekU; ukxjhdkaps vkfFkZd dY;k.k

(C) vkfFkZd fu;kstuklkBh mfpr iz.kkyhph

fuoM

(D) egRre lkekftd dY;k.kkps mn~nh"V

lk/; dj.ks

2. iq<hyiSdh dks.krh la?kVuk ^O;kikjh la?k*

ukgh \

(A) dkWeuosYFk vkWQ bafMisaMaV LVsVl

(B) ,f'k;k iWflfQd bdkWukWfed dksvkWijs'ku

(C) lk≈Fk ,f'k;u ›h V™sM ,fj;k

(D) ,f'k;u ;qfu;u QkWj bdkWukWfed osYQsvj
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3. Write the phases of trade cycle in

the most appropriate order :

(A) Revival → Recession →

Expansion → Contraction

(B) Revival → Expansion →

Recession → Contraction

(C) Contraction → Revival →

Recession → Expansion

(D) Recession → Contraction →

Revival → Expansion

4. Which of the following is not a right

of the consumer ?

(A) Right to safety

(B) Right to be informed

(C) Right to get rewarded

(D) Right to be redressed

3. O;kikjpÿkP;k fofo/k voLFkkapk lq;ksX; jhrhus

ÿe ykok %

(A) iqu#Tthou → eanh → foLrkj →

ladksp

(B) iqu#Tthou → foLrkj → eanh →

ladksp

(C) ladksp → iqu#Tthou → eanh →

foLrkj

(D) eanh →  ladksp → iqu#Tthou →

foLrkj

4. iq<hyiSdh dks.krk xzkgdkpk ewyHkwr gDd

ukgh \

(A) lqj{kspk vf/kdkj

(B) ekfgrh izkIr dj.;kpk vf/kdkj

(C) cf{kl izkIr dj.;kpk vf/kdkj

(D) rÿkj fuokj.kkpk vf/kdkj
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5. Match the following and write the

correct answer from the codes given

below :

Group ‘A’ Group ‘B’

(1) Globalisation (i) Expansion of economic

activities across

political boundaries of

nation state

(2) International (ii) Promotion of

Monetary Fund international trade

through tariff

reduction

(3) W.T.O. (iii) Promote exchange

stability

(4) GATT (iv) Administration of trade

policies review

mechanism

  Codes :

(A) (1)-(i) (2)-(iii) (3)-(iv) (4)-(ii)

(B) (1)-(ii) (2)-(iv) (3)-(iii) (4)-(i)

(C) (1)-(i) (2)-(ii) (3)-(iii) (4)-(iv)

(D) (1)-(iv) (2)-(ii) (3)-(i) (4)-(iii)

5. tksMÓk tq̌ ok vkf.k [kkyh fnysY;k ladsrkdMwu

;ksX; mŸkj fuoMk %

xV ‘A’ xV ‘B’

(1) oSf'odhdj.k (i) fofo/k ns'kkaP;k jktdh;

lheka iyhdMs tk≈u

vkfFkZd fÿ;kapk fodkl

dj.ks

(2) vkarjjk"V™h; uk.ks (ii) tdkr deh d:u

fu/kh vkarjjk"V™h; O;kikjkps

izorZu dj.ks

(3) tkxfrd O;kikj (iii) fofue;njkr fLFkjrk

la?kVuk vk.k.ks

(4) xWV (iv) O;kikj/kksj.kkapk vk<kok

?ks.kkÚ;k ;a=.ksps iz'kklu

  ladsr %

(A) (1)-(i) (2)-(iii) (3)-(iv) (4)-(ii)

(B) (1)-(ii) (2)-(iv) (3)-(iii) (4)-(i)

(C) (1)-(i) (2)-(ii) (3)-(iii) (4)-(iv)

(D) (1)-(iv) (2)-(ii) (3)-(i) (4)-(iii)
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6. Which of the following practices is

not in connection with the

convention of conservatism ?

(A) Providing for bad and doubtful

debts

(B) Providing for discount on

debtors

(C) Providing for discount on

creditors

(D) Providing for taxation

7. Profit-volume ratio is a relation

between ...............

(A) Profit and sales volume

(B) Profit and marginal cost

(C) Contribution and sales

(D) Profit and sales value

6. [kkyhyiSdh dks.krh iºr ijaijkoknh ladsrk'kh

fuxfMr ukgh \

(A) vizkI; Ω.k (cqfMr ;s.ks) o lafnX/k Ω.k

(la'kf;rs ;s.ks) gÓkapslkBh rjrwn

(B) /kudksauk |ko;kP;k dljhph (lwV) rjrwn

dj.ks

(C) Ω.kdksuk |ko;kP;k dljhph (lwV)

rjrwn dj.ks

(D) dj vkdkj.khlkBh rjrwn dj.ks

7. ykHkek=k xq.kksŸkj gs ----------- gÓkrhy laca/k

n'kZfors-

(A) ykHk o foÿh ek=k

(B) ykHk o lhekUr [kpZ

(C) va'knku o foÿh

(D) ykHk o foÿs; ewY;
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8. Discount on issue of debentures is

written off .............

(A) in no case later than the date

of redemption

(B) in any period selected by the

company

(C) before finalisation of company

annual accounts

(D) before redemption of

debentures

9. Amit’s Trial Balance as on 31st

March, 2012 includes the following

accounting information :

Bad debts Rs. 5,000, discount

allowed Rs. 3,000, Provision for

discount on debtors Rs. 3,300,

Provision for bad and doubtful debts

Rs. 5,500, Book debts Rs. 60,000.

At the end of the year it is desired

to maintain a provision for bad and

doubtful debts of Rs. 5,000 and a

provision for discount on debtors at

Rs. 3,000.

Hence, sundry debtors account will

appear in the balance sheet at :

(A) Rs. 52,800

(B) Rs. 43,200

(C) Rs. 52,000

(D) Rs. 44,000

8. dtZjks[;kP;k foÿhojhy dlj (lwV) gh
---------------------- [kphZ Vkdyh tkrs-

(A) dks.kR;kgh ifjfLFkrhr dtZjks[;kP;k

ijrQsMhP;k fnukadk iwohZP;k dkyko/khr

(B) daiuhus BjfoysY;k dks.kR;kgh dkyko/khr

(C) daiuhP;k okf"kZd ys[kkauk varhe Lo:i

ns.;kiwohZ

(D) dtZjks[;kP;k ijrQsMhP;k iwohZ

9. vferP;k 31 ekpZ 2012 P;k rsjhte/ks ys[kk&

fo"k;d [kkyhy ekfgrh lekfo"V dj.;kr

vkyh vkgs %

vizkI; Ω.k (cqMhr ;s.ks) 5,000 #-] dlj

fdaok fnysyh lwV 3,000 #-, Ω.kdksuk

|ko;kP;k dljh (lwV) cÌyph rjrwn

3,300 #-] vizkI; Ω.k o lafnX/k Ω.kklkBh

rjrwn 5,500 #-] iqLrΩ.k 6,000 #-

o"kkZ v[ksjhl vizkI; o lafnX/k Ω.kklkBh

5,000 #- o Ω.kdksuh |ko;kP;k dljh (lwV)

lkBh 3,000 #- rjrwn dj.;kr ;kuh vls

visf{kr vkgs-

Eg.kwu rk šcankr fdjdkš  Ω.k [kkR;kr [kkyhy

izek.ks jDde fnlsy %

(A) 52,800 #-

(B) 43,200 #-

(C) 52,000 #-

(D) 44,000 #-
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10. Rs. 5,000 spent on replacement of

worn out part of the machine will

be charged as .................

(A) Capital expenditure

(B) Revenue expenditure

(C) Deferred Revenue Expenditure

(D) Indirect expenditure

11. Business Economics is the

integration of economic theory with

business practice for the purpose of

facilitating decision-making and

forward planning by management ?

This definition is given by :

(A) Dr. Alfred Marshall

(B) McNair and Meriam

(C) Spencer and Siegelman

(D) Edwin Mansfield

12. Total revenue – (explicit cost +

implicit cost) =

(A) Pure profit

(B) Accounting profit

(C) Gross profit

(D) Monopoly profit

10. vi{k; >kysY;k ;a=kpk Hkkx cny.;klkBh

[kphZ ?kkrysys 5,000 #- [kkyhy izek.ks

vkdkjys tkrhy ------------------------

(A) HkkaMoyh [kpZ

(B) eglwy [kpZ

(C) foyafcr eglwyh [kpZ

(D) vizR;{k [kpZ

11. ^^O;oLFkkiukyk fu.kZ; ?ks.ks o Hkfo";krhy

fu;kstu dj.ks lqyHk Ogkos Eg.kwu vkfFkZd

flºkUrkps O;olk; iºrh'kh dsysys ,d=hdj.k

Eg.kts O;kolkf;d vFkZ'kkL= gks;-** gh O;k[;k
------------------ ;kauh fnyh vkgs-

(A) MkW- vY›sM ek'kZy

(B) eWduk;j vkf.k esfj;e

(C) LisUlj vkf.k lhxyeu

(D) ,Mfou eWUlfQYM

12. ,dq.k mRiUu – (lqO;Dr [kpZ + xfHkZr

[kpZ) =

(A) 'kqº uQk

(B) ys[kk uQk

(C) <kscˇ uQk

(D) eDrsnkjh uQk
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13. In case of Giffen Goods,

compensated demand curve will

be :

(A) Upward sloping

(B) Downward sloping

(C) Horizontal

(D) Vertical

14. Marginal utility approach was

finalised by :

(A) J.R. Hicks

(B) Alfred Marshall

(C) J.S. Mill

(D) A.C. Pigou

15. The slope of indifference curve in

demand analysis is :

(A)
1

2

MU

MU
−

(B)
1

2

MU

MU

(C)
1

2

TU

TU
−

(D)
1

2

TU

TU

13. fxQsu oLrqaP;k ckcrhr izfriwjd ekx.kh oÿ

------------------ ;k izdkjpk vlsy-

(A) m/oZxkeh

(B) v/kksxkeh

(C) f{kfrt lekarj

(D) mnxz

14. lhekar mi;ksfxrk n`f"Vdks.kkyk vafre Lo:i
------------------ ;kauh fnys-

(A) ts-vkj- fgDl

(B) vY›sM ek'kZy

(C) ts-,l- fey

(D) ,-lh- fixw

15. ekx.kh fo'ys"k.kkrhy rVLFkrk oÿkps lehdj.k

[kkyhy izek.ks vkgs %

(A)
1

2

MU

MU
−

(B)
1

2

MU

MU

(C)
1

2

TU

TU
−

(D)
1

2

TU

TU
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16. The most important factor in

determining the size of sample

is ..................

(A) Investigator’s view

(B) Time of survey

(C) Heterogeneity of population

(D) Place of survey

17. The average of weekly wages of

workers in a factory is Rs. 5,500 with

the standard deviation Rs. 1,100,

then the coefficient of variation of

the wages is ................. %.

(A) 30

(B) 20

(C) 50

(D) 15

18. Degrees of freedom for chi-square

test of testing the independence of

two attributes in case of 4 × 3

contingency table are ...............

(A) 12

(B) 9

(C) 8

(D) 6

16. uequkla[;k Bjforkuk lokZr egŸokpk ?kVd
--------------------- gk gks;-

(A) vUos"kdkpk n`f"Vdksu

(B) losZ{k.kkph oš

(C) lef"Vph fofo/kkafxrk

(D) losZ{k.kkph tkxk

17. ,dk dkj[kkU;krhy dkexkjkaps lkIrkfgd

ljkljh osru 5,500 #- vlwu R;kps izek.k

fopyu 1,100 #- vkgs] rj R;kpk fopj.k

xq.kkad --------------------- % vkgs-

(A) 30

(B) 20

(C) 50

(D) 15

18. tj nksu xq.kkRed pykaph foHkkx.kh 4 × 3

vklax dks"Vdkr dsyh vlsy rj R;k xq.kkRed

pykaph fujoyacu dk;&LDosvj dlksVhlkBh

eqDrhla[;k -------------------- vlsy-

(A) 12

(B) 9

(C) 8

(D) 6
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19. If the two regression lines are given

by

x – 3y = 2

x – 2y = 3,

then the arithmetic mean of X

is ..............

(A) 3

(B) 2

(C) 1

(D) 5

20. If P(A) = 0.6, P(B) = 0.8,

P(A ∩ B) = 0.4, then P(A|B) = .............

(A) 0.6

(B) 0.5

(C) 1.4

(D) 0.3

19. tj nksu lekJ;.k js"kk iq<hyizek.ks vlrhy

x – 3y = 2

x – 2y = 3,

rj X ps vadxf.krh; e/; ------------- vkgs-

(A) 3

(B) 2

(C) 1

(D) 5

20. tj P(A) = 0.6, P(B) = 0.8, P(A ∩ B)

= 0.4, rj P(A|B) = --------------

(A) 0.6

(B) 0.5

(C) 1.4

(D) 0.3
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21. tksMÓk ykok vkf.k [kkyh fnysY;k ladsrkdMwu

;ksX; mŸkj fuoMk %

   ‘A’ ‘B’

(1) oSKkfud O;oLFkkiu flºkar (i) eWDxzsxj

(2) iz'kkldh; O;oLFkkiu (ii) ,YVu es;ks

flºkar

(3) ^{k* flºkar o ^;* (iii) Qs;kWy

flºkar

(4) gkWFkkWuZ iz;ksx (iv) Vsyj

  ladsr %

(A) (1)-(iii), (2)-(i), (3)-(ii), (4)-(iv)

(B) (1)-(ii), (2)-(iv), (3)-(i), (4)-(iii)

(C) (1)-(iv), (2)-(iii), (3)-(i), (4)-(ii)

(D) (1)-(ii), (2)-(i), (3)-(iv), (4)-(iii)

22. eWDl oscj ;kapk ------------------- ;k flºkark'kh

laca/k vkgs-

(A) iz'kkldh; flºkar

(B) vfHktkr flºkar

(C) oSKkfud O;oLFkkiukpk flºkar

(D) uksdj'kkghpk flºkar

21. Match the following and select the

correct answer from the codes given

below :

  ‘A’ ‘B’

(1) Scientific Management (i) McGregor

Theory

(2) Administrative (ii) Elton Mayo

Management Theory

(3) Theory ‘X’ and Theory ‘Y’ (iii) Fayol

(4) Hawthorne Experiment (iv) Taylor

  Codes :

(A) (1)-(iii), (2)-(i), (3)-(ii), (4)-(iv)

(B) (1)-(ii), (2)-(iv), (3)-(i), (4)-(iii)

(C) (1)-(iv), (2)-(iii), (3)-(i), (4)-(ii)

(D) (1)-(ii), (2)-(i), (3)-(iv), (4)-(iii)

22. Max Weber is associated with

...............

(A) Administrative theory

(B) Classical theory

(C) Scientific Management theory

(D) Bureaucracy theory
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23. .................... involves a detailed

guideline to policy.

(A) Method

(B) Rules

(C) Programme

(D) Procedure

24. Classical theory of organisation

focusses on :

(A) Technology

(B) Systems

(C) Work

(D) Management Philospohy

25. Tom Peters introduced the concept

of :

(A) Five Force Analysis

(B) M.B.O. (Management By

Objectives)

(C) Liberation Management

(D) Achievement Motivation

23. /kksj.kkyk iwjd ekxZn'kZd lwpuk ---------------

e/kqu izkIr gksrkr-

(A) iºrh

(B) fu;e

(C) dk;Zÿe

(D) iz.kkyh

24. la?kVuspk vfHktkr flºkar -------------- oj y{k

dsafÊr djrks-

(A) ra=Kku

(B) O;oLFkk

(C) dk;Z

(D) O;oLFkkidh; rŸoKku

25. VkWe fiVlZ ;kauh ---------------- ;k ladYiuspk

iqjLdkj dsyk-

(A) iap'kDrh fo'ys"k.k

(B) mÌh"Vkuq:i O;oLFkkiu

(C) eqDrhoknh O;oLFkkiu

(D) flºh izsj.kk flºkar
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26. Setting call objectives is done during

which of the following stages of the

selling process ?

(A) Prospecting

(B) Pre-approach

(C) Approach

(D) Handling objections

27. Which of the following is a

demographic basis of market

segmentation ?

(A) Lifestyle

(B) Income

(C) Climate

(D) User status

28. If the sample size increases, the

sampling error .............

(A) decreases

(B) increases

(C) remains constant

(D) sharply increases

26. foÿ; izfÿ;srhy [kkyhyiSdh dks.kR;k

voLFksr laidkZph mfÌ"Vs fu/kkZfjr dsyh

tkrkr \

(A) iqosZ{k.k

(B) laidZ&n`f"Vdksu

(C) n`f"Vdksu

(D) vk{ksikaps fujlu

27. cktkjisB [kaMhdj.kklkBh yksdla[;k fud"kkoj

[kkyhyiSdh dks.krk ?kVd y{kkr ?ks.;kr

;srks \

(A) thoupÿ

(B) mRiUu

(C) okrkoj.k

(D) miHkksDR;kps LFkku

28. ueqU;kpk vkdkj ok<yk rj uequk =qVh -------

(A) deh gksrs

(B) ok<rs

(C) fLFkj jkgrs

(D) eksBÓk izek.kkr ok<rs



13 [P.T.O.

FEB - 50313/III

29. [kkyhyiSdh dks.krk iz'u foo`Ÿk Lo:ikpk

vkgs \

(A) yk;dVZ Js.kh

(B) o`Ÿkhn'kZd Js.kh

(C) cgqi;kZ;h fuoM

(D) iw.kZr% vlajfpr

30. [kkyhyiSdh dks.krs lk/ku tulaidkZps lk/ku

ukgh \

(A) izlax vk;kstu

(B) iqjLœr dk;Zÿe

(C) izdk'kus

(D) dqiu

31. daiuhps pk w̌ xq.kksŸkj 2 : 1 vkgs vls x`ghr

/kjY;kl] [kkyhyiSdh dks.kR;k ckcrhr xq.kksŸkj

lkj[ksp jkfgy rs nk[kok %

(A) fLFkj nkf;Ro iznku ('kks/ku)

(B) fLFkj ekyeŸkk [kjsnh dsyh

(C) xzkgdkdMwu jks[kjDde xksˇk dsyh

(D) uohu Hkkxkaph foÿh dsyh

29. Which of the following is a type of

open-end questions ?

(A) Likert scale

(B) Attitudinal scale

(C) Multiple choice

(D) Completely unstructural

30. Which of the following is not a tool

of public relation ?

(A) Events

(B) Sponsorship

(C) Publications

(D) Coupons

31. Assuming that the current ratio of

a company is 2 : 1, out of the

following, indicate the case where the

ratio will remain the same :

(A) Payment of a fixed liability

(B) Purchase of fixed assets

(C) Cash collected from customers

(D) Issue of new shares
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32. The product of asset turnover and

profit margin is known as .............

(A) Operating leverage

(B) Financial leverage

(C) Return on investment leverage

(D) Capital Gearing

33. Prof. Walter establishes the

relationship between .....................

and its influence in the dividend

decision.

(A) Capital structure and Average

rate of return

(B) Net present value and

Profitability index

(C) Internal rate of return and

Average rate of return

(D) Internal rate of return and cost

of capital

32. ekyeŸkk myk<ky vkf.k ykHklhek ;kaP;k

xq.kksŸkjkl -------------------- vls Eg.krkr-

(A) fÿ;kRed dtZ Hkk aMoy xq.kk sŸ kj

(izfriwjd)

(B) foŸkh; izfriwjd

(C) xqaro.kqdhojhy feˇdrhpk izfriwjd

(D) HkkaMoy izfriwjd

33. izk- okYVj ------------------- gÓkaP;krhy laca/k o

ykHkka'k fu.kZ;krhy R;kapk izHkko izLFkkfir

djrkr-

(A) HkkaMoyh [kpZ vkf.k ekscnˇÓkpk ljkljh

nj

(B) fuOoˇ  orZeku ewY;  vkf.k  ykHk

uQk{kerspk funsZ'kkad

(C) varxZr ekscnyk nj vkf.k ljkljh ekscnyk

nj

(D) varxZr ekscnyk nj vkf.k HkkaMoˇ

mHkkj.khpk [kpZ
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34. The explicit cost is the ...............

which equates the present value of

cash inflows with the present value

of cash outflows.

(A) Inflated rate

(B) Cumulative rate

(C) Discount rate

(D) Differential rate

35. The turnover ratio helps the

management in ................

(A) Managing resources

(B) Evaluating performance

(C) Managing a debt

(D) Understanding financial

position

36. ................. is a process to discover the

source of manpower to meet the

requirement of acquiring efficient

workforce.

(A) Recruitment

(B) Induction

(C) Manpower planning

(D) Interview

37. The process of indentifying and

developing employees to occupy

higher jobs as per organisational

need is .................

(A) Career planning

(B) Succession planning

(C) Manpower planning

(D) Human Resource Development

34. lqO;Dr ifjO;; ([kpZ) gs -------------------- vlrs

dh ts fu/kh variZzokg orZeku ewY;ka'kh fu/kh

cfgxZr izokgk cjkscj larqyu lk/krs-

(A) ok<ho nj

(B) lapf;r nj

(C) loyrhpk nj

(D) foHksnkRed nj

35. myk<kyhP;k xq.kksŸkj O;oLFkkiukyk -----------

e/ks enr djrs-

(A) lk/kukaps O;oLFkkiu dj.;ke/ks

(B) dkefxjhps ewY;ekiu dj.;kr

(C) Ω.k O;oLFkkiukr

(D) vkfFkZd ifjfLFkrh let.;kr

36. dk;Z{ke euq";cˇkP;k izkIrhlkBh ;ksX; Úksr

'kks/k.;kP;k izfÿ;syk ---------------- Eg.krkr-

(A) Hkjrh

(B) laLFkkijhp;

(C) euq";cˇ fu;kstu

(D) eqyk[kr

37. la?kVusP;k xjtk y{kkr ?ks≈u mPprj ntkZps

dk;Z dj.;klkBh deZpkÚ;kapk 'kks/k ?ks≈u R;kauk

fodflr dj.;kP;k izfÿ;syk ------------ Eg.krkr-

(A) thouÿe fu;kstu

(B) mŸkjkf/kdkjh fu;kstu

(C) euq";cˇ fu;kstu

(D) ekuo lalk/ku fodkl



16

FEB - 50313/III

38. ....................... is a test that measures

whether an individual has the

capacity to learn a given job if given

adequate training.

(A) Aptitude test

(B) Situational test

(C) Achievement test

(D) Job knowledge test

39. A quality circle should consist of a

minimum ................ members ?

(A) 6

(B) 12

(C) 4

(D) 2

40. Which function is not included in

staffing ?

(A) Transfer

(B) Recruitment

(C) Induction and orientation

(D) Organisation, planning and

development

41. When the banks are trying to

strengthen customer relationship

with the help of internet and

cyber technology, it is termed

as ...............

(A) Universal Banking

(B) Mixed Banking

(C) Retail Banking

(D) Virtual Banking

38. ,[kk|k deZpkÚ;kyk i;kZIr izf'k{k.k iznku
dsY;kl R;kP;kr fof'k"V dk;Z dj.;kph {kerk
vkgs vFkok ukgh ;kph ekst.kh dj.;kP;k
pkp.khl ------------------- Eg.krkr-

(A) dy pkp.kh

(B) ifjfLFkrh pkp.kh

(C) mfÌ"VizkIrh pkp.kh

(D) dk;ZKku pkp.kh

39. xq.koŸkk orqŽ kr dehr deh ---------------- lnL;

vlys ikfgts-

(A) 6

(B) 12

(C) 4

(D) 2

40. dkfeZd ÿh;s e/ks dks.kR;k dk;k±pk lekos'k

gksr ukgh \

(A) cnyh

(B) Hkjrh

(C) dk;Z vkš [k o vuqorZu

(D) la?kVu] fu;kstu o fodkl

41. c°dk tsOgk vkarjtky (baVjusV) o lk;cj

ra=KkukP;k lgk∏;kus xzkgd laca/k etcwr

dj.;kpk iz;kl djrkr rsOgk R;kl ---------

vls Eg.krkr-

(A) oSf'od vf/kdks"k (oSf'od c°fdax)

(B) feJ c°fdax

(C) fdjdkš  c°fdax

(D) vkHkklh c°fdax
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42. Match the functions of financial
system according to their features

and select the correct answer from
the codes given below :

I II

(a) Savings function (i) Offers an effective

mode of payment

for goods and

services

(b) Liquidity function (ii) Link between savers

and investors

(c) Payment function (iii) Mechanism for

mobilisation and

controlling risk in

mobilisation of

savings and credit

(d) Risk function (iv) Provides the investor

with the opportunity

to liquidate

investment like

stock

Codes :

(a) (b) (c) (d)

(A) (iii) (ii) (iv) (i)

(B) (iv) (i) (ii) (iii)

(C) (ii) (iv) (i) (iii)

(D) (iii) (i) (iv) (ii)

43. The State Bank of India came into

existence on .................

(A) June 1, 1955

(B) May 8, 1955

(C) July 1, 1955

(D) June 12, 1955

42. foŸkh; O;oLFksph dk;sZ o oSf'k"VÓs ;kaP;k lq;ksX;
tksMÓk ykok vkf.k fnysY;k ladsrkdMwu ;ksX;
mŸkj fuoMk %

   I II

(a) cpr dk;Z (i) foÿh o lsok ;kaP;k

'kks/kuklkBh vl.kkjs

izHkkoh ek/;e

(b) rjyrk dk;Z (ii) xqaro.kwdnkj o cprnkj

;kauk tksM.kkjs ek/;e

(c) 'kks/ku dk;Z (iii) cpr o dtsZ ;kaP;k

lq;ksX; izokghdj.kkrhy

tks[khe fu;af=r

dj.;kps ek/;e

(d) tks[khe dk;Z (iv) xqaro.kwdnkjkauk

HkkxlkBÓkrhy

xqaro.kwdhph foÿh

dj.;kps izHkkoh

lk/ku

ladsr %

(a) (b) (c) (d)

(A) (iii) (ii) (iv) (i)

(B) (iv) (i) (ii) (iii)

(C) (ii) (iv) (i) (iii)

(D) (iii) (i) (iv) (ii)

43. LVsV c°d vkWQ bafM;k ------------- e/ks vfLrRokr
vkyh-

(A) 1 twu 1955

(B) 8 es 1955

(C) 1 tqyS 1955

(D) 12 twu 1955
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44. Which of the following is not

the advantage of Internet

Banking ?

(A) Convenience

(B) Saves money

(C) Needs no formality to open an

account

(D) Greater access to different

services

45. Match the following pairs and select

the correct answer from the codes

given below :

I II

(a) Principle of (i) Insurer can acquire

Indemnity all remedies available

to the insured against

third party

(b) Principle of (ii) It is the right of an

insurable interest insurer to call upon

other insurers to pay for

losses

(c) Doctrine of (iii) Security against loss

subrogation

(d) Doctrine of (iv) Essential element of

contribution every contract of

insurance

Codes :

(A) (a)-(iii) (b)-(iv) (c)-(i) (d)-(ii)

(B) (a)-(ii) (b)-(i) (c)-(iv) (d)-(iii)

(C) (a)-(iv) (b)-(i) (c)-(ii) (d)-(iii)

(D) (a)-(i) (b)-(iii) (c)-(iv) (d)-(ii)

44. [kkyhyiSdh vkarjtky (baVjusV) c°fdaxpk

dks.krk Qk;nk ukgh \

(A) lks;

(B) iS'kkph cpr

(C) [kkrs m?kM.;klkBh vkSipkfjdrsph xjt

ukgh

(D) fofo/k lsokpk ykHk vf/kd ?ksrk ;srks

45. iq<hy tksMÓk tq̌ ok vkf.k fnysY;k ladsrkdMwu

;ksX; mŸkj fuoMk %

   I II

(a) {kfriwrhZps rRo (i) oLrw o lsokapk

'kks/kuklkBh izHkkoh

ek/;e miyC/k d:u

nsrs

(b) foekfgrkps rRo (ii) uqdlku HkjikbZ dj.;klkBh

,d foesnkj nqlÚ;k foek

daiuhyk lgk∏; ekx.;kpk

vf/kdkj

(c) izR;kf'krrsps rRo (iii) uqdlkuklkBh geh

(d) ;ksxnkukps rRo (iv) foekdjkjkpk lokZr

vko';d ?kVd

ladsr %

(A) (a)-(iii) (b)-(iv) (c)-(i) (d)-(ii)

(B) (a)-(ii) (b)-(i) (c)-(iv) (d)-(iii)

(C) (a)-(iv) (b)-(i) (c)-(ii) (d)-(iii)

(D) (a)-(i) (b)-(iii) (c)-(iv) (d)-(ii)
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46. Which of the following is not the

objective of protectionism ?

(A) To protect domestic industries

from foreign competition

(B) To promote indigenous research

(C) To discriminate against certain

countries

(D) To control corruption within the

country

47. ................... refers to certain

conditions imposed by government

in respect of foreign investment in

the country.

(A) Trade related investment

measures

(B) Trade related financial

measures

(C) Trade related economic

measures

(D) Trade related competitive

measures

46. [kkyhyiSdh laj{k.koknkps dks.krs mfÌ"V

ukgh \

(A) ns'kkarxZr m|ksxkauk fons'kh Li/ksZiklwu

lajf{kr dj.ks

(B) Lons'kh la'kks/kukyk mRrstu ns.ks

(C) fof'k"V ns'kkaP;k lanHkkZr HksnHkkokps

/kksj.k Lohdkj.ks

(D) ns'kkarxZr ykp[kksVhyk vkˇk ?kky.ks

47. ---------------------- ;kpk laca/k ,[kk|k ns'kkrhy

'kklukus fons'kh xqaro.kwdhoj fuc±/k Bso.;klkBh

;kstysY;k mik;;kstuka'kh vkgs-

(A) O;kikjk'kh lacaf/kr xqaro.kwdfo"k;d

mik;;kstuk

(B) O;kikjk'kh lacaf/kr foRrh; mik;;kstuk

(C) O;kikjk'kh lacaf/kr vkfFkZd mik;;kstuk

(D) O;kikjk'kh lacaf/kr Li/kkZRed mik;;kstuk
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48. dk;nÓkUo;s eatwj dsyk xsysyk ,dkf/kdkj

Eg.kts %

(A) ?kks"kokD;

(B) ,dLokf/kdkj

(C) ekydhgDd

(D) LokfeRogDd

49. [kkyhyiSdh dks.krs dk;Z ^fons'k fofue;

cktkjkekQZr* dsys tkr ukgh \

(A) ÿ;'kDrhps gLrkarj.k

(B) dtZ o Ω.kkph rjrwn

(C) }S/kj{k.k lqfo/kk

(D) dk;Z{ke  fofue;  fu;a=.k  fodflr

dj.ks

50. foi.ku ra=kps vk/kkjs dk;Z dj.kkÚ;k fofue;

nj O;oLFksyk ---------------------- Eg.krkr-

(A) fLFkj fofue; nj iºrh

(B) py fofue; nj iºrh

(C) HkkaMoyh ys[kkadu ifjorZuh;rk

(D) fof'k"V fofue; nj iºrh

48. Monopoly right granted by law

is ...................

(A) Slogan

(B) Patent

(C) Ownership

(D) Royalty

49. Which of the following is not a

function of foreign exchange

market ?

(A) Transfer of purchasing

power

(B) Provision of credit

(C) Provision of hedging

facilities

(D) Develop efficient exchange

control

50. The exchange rate system that

works on market mechanism is

termed as ..............

(A) Fixed exchange rate system

(B) Flexible exchange rate system

(C) Capital accounting

convertibility

(D) Specific exchange rate system
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51. From the following data, valuation

of closing stock as per AS-2 :

Fixed production overhead for the

year Rs. 4,00,000

Annual normal production : 1,00,000

units

Actual production in 2011-12 :

50,000 units

Closing stock on 31-3-2012 : 2,000

units

Material cost Rs. 100 per unit

Labour cost Rs. 50 per unit

Fixed Administrator overhead

Rs. 2,00,000

Valuation =

(A) Rs. 3,07,500

(B) Rs. 3,08,000

(C) Rs. 4,20,000

(D) Rs. 3,00,000

51. AS-2 uqlkj iq<hy ekfgrho:u f'kYyd

ekykps ewY; dks.krs \

fLFkj mRiknu vf/kO;; 4,00,000 #- (izfr

o"kZ)

lkekU; okf"kZd mRiknu 1,00,000 ux

2011-12 e/khy izR;{k mRiknu 50,000 ux

31-3-2012 jksth v[ksj f'kYyd eky : 2,000

ux

dPpk eky ifjO;; 100 #- izfr ux

dkexkj ifjO;; 50 #- izfr ux

fLFkj iz'kkldh; vf/kO;; 2,00,000 #-

ewY;kadu =

(A) 3,07,500 #-

(B) 3,08,000 #-

(C) 4,20,000 #-

(D) 3,00,000 #-
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52. [kkyhyiSdh dks.krs fo/kku vf/kdkf/kd vpwd

vkgs \

(A) T;k fBdk.kh pyukph foÿh gksrs R;kl

iSlk cktkj vls Eg.krkr

(B) T;k fBdk.kh tursyk vkfFkZd ykHk

iksgpoys tkrkr R;kl iSlk cktkj vls

Eg.krkr

(C) T;k fBdk.kh iSlk vkf.k iS'kklkj[;k

ekyeŸksps  dtZnkj  o  dtZnkrs  ;kaps

O;ogkj gksrkr R;kl iSlk cktkj vls

Eg.krkr

(D) iSlk cktkj gh ,d O;kid ladYiuk

vlwu R;kr toyikl loZp cktkjkapk

lekos'k gksrks

53. ^foÿh* d:u ijr HkkMs iVÓkoj ?ks.ks gh

O;oLFkk HkkMsiV~Vk ?ks.kkÚ;kP;k [kkyhyiSdh

,dk izlaxh lksbZph vl.ks %

(A) ok<ho fu/kh miyC/k vlrkuk

(B) mPp uQk vlrkuk

(C) vYi uQk vlrkuk

(D) rjyrk ladV vlrkuk

52. Which of the following is the most

correct statement ?

(A) Money market is a place where

currency is sold

(B) Money market is a place which

provides monetary benefit to the

public

(C) Money market is a place where

borrowers and lenders of money

or near money assets are put

together

(D) Money market is a very vast

concept which virtually includes

all types of markets

53. ‘Sale’ and ‘Lease-Back’ arrangement

is suitable for a lessee having :

(A) Surplus fund

(B) High profit

(C) Low profit

(D) Liquidity crises
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54. Which of the following is most

correct statement ?

(A) Treasury Bill is a bill of

exchnage drawn by treasury

over State Bank of India

(B) Treasury Bill is actually a

treasure owned by Govt. of

India

(C) A Treasury Bill is a particular

kind of financial bill/promissory

note put out by the Government

(D) Treasury Bill is a Bill of

Exchange drawn by RBI over

other nationalised bank

55. Inflation accounting is useful to :

(A) Ascertain the level of inflation

(B) Combat inflation

(C) Bring real results and position

to light

(D) Manipulate inflation as a

development tool

56. In relation to product and services,

the benefits such as delivery,

servicing, warranties and credit

facilities are known as :

(A) Core product

(B) Main product

(C) Augmented product

(D) Actual product

54. [kkyhyiSdh dks.krs fo/kku vf/kd vpwd
vkgs \

(A) dks"kkxkjkus LVsV c°d vkWQ bafM;koj
dk<ysyh gqaMh Eg.kts jktdksf"k; i=
gks;

(B) jktdksf"k; i=   Eg.kts   Hkkjr ljdkjP;k
ekydhpk [kftrhp gks;

(C) ljdkjus dk<ysys fof'k"V izdkjps
vFkZi=@opufpÎh Eg.kts jktdksf"k; i=
gks;

(D) fj>oZ c°dsus brj jk"V™h;hœr c°dkaoj
dk<ysyh gqaMh Eg.kts jktdksf"k; i=
gks;

55. ^pyuok< ys[kk adu* d'kkLro mi;ksxh
Bjrs \

(A) pyuok<hph ikrˇh Bjfo.;klkBh

(B) pyuok< jks[k.;klkBh

(C) [kjs fudky vkf.k fLFkrh izdk'kkr
vk.k.;klkBh

(D) pyuok<hpk fodkllk/ku Eg.kwu okij
dj.;klkBh

56. oLrw vFkok lsosPpk lanHkkZr forj.k] lsok] geh

o Ω.klqfo/kk ;kaP;k ykHkleqPp;kyk --------

Eg.krkr-

(A) ewyHkwr mRiknu

(B) eq[; mRiknu

(C) foLr`r mRiknu

(D) okLrfod mRiknu
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57. To sell FMCG (Fast Moving

Consumer Goods), initially .................
technique is applied.

(A) Mass marketing

(B) Supply factor

(C) Demand factor

(D) One to one marketing

58. The common element sending a
single message amid the wide

variety of its products, action and
slogan is .................

(A) Brand image

(B) Brand identity

(C) Brand loyalty

(D) Brand equity

59. Arrange the following steps of
product development process in

appropriate order :

(A) Idea generation → Business
analysis → Product development

and testing → Idea testing

(B) Idea screening → Idea

generation → Concept
development → Product

development and testing

(C) Idea generation → Concept

development and testing →

Product development and

testing → Product launching

(D) Idea generation → Business

analysis → Concept
development → Test marketing

57. tynjhR;k  foÿh  gks.kkÚ;k  xzkgdksi;ksxh
mRiknukaP;k foÿhlkBh izFker% ------------- ra=kpk
okij dsyk tkrks-

(A) lkewfgd foi.ku

(B) iqjoBk ?kVd

(C) ekx.kh ?kVd

(D) O;fDruq:i foi.ku

58. mRiknu] œrh o ?kks"k.kk ;krhy fofo/k ?kVdkauk
,df=rjhR;k lans'k laizsf"kr dj.kkjk leku ?kVd
Eg.kts -----------------

(A) Nki izfrek

(B) Nki O;DrheRo

(C) Nki fu"Bk

(D) Nki leewY;

59. mRiknu fodklkrhy iq<hy ik;Ú;k ;ksX; ÿekus
ykok %

(A) ladYiuk fufeZrh →  O;olk; fo'ys"k.k
→ mRiknu fodkl o ijh{k.k →

ladYiuk ijh{k.k

(B) ladYiuk ijh{k.k → ladYiuk fufeZrh
→ ladYiuk fodkl → mRiknu fodkl
o ijh{k.k

(C) ladYiuk fufeZrh → ladYiuk fodkl
o ijh{k.k → mRiknu fodkl o ijh{k.k
→ mRiknu cktkjisBsr lknj dj.ks

(D) ladYiuk fufeZrh → O;olk; fo'ys"k.k
→  ladYiuk  fodkl  →  cktkjisB
ijh{k.k
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60. Select the correct equation :

Selling price =

(A) Fixed Cost + Variable Cost +

Profit

(B) Fixed Cost + Total Cost + Profit

(C) Fixed Cost + Selling overheads

+ Profit

(D) Fixed Cost + Contribution +

Profit

61. Self-actualisation and esteem needs

in Maslow’s theory correspond to the

........................ factor in Herzberg’s

theory.

(A) Interpersonal relations

(B) Working conditions

(C) Challenging work

(D) Quality of supervision

60. lq;ksX; lehdj.kkph fuoM djk %

foÿ; ewY; =

(A) fLFkj ijhO;; + py ijhO;; +

uQk

(B) fLFkj ijhO;; + ldy ijhO;; +

uQk

(C) fLFkj ijhO;; + foÿh vf/kO;; +

uQk

(D) fLFkj ijhO;; + va'knku + uQk

61. gtZcxZ gÓkaP;k flºkarke/khy ---------------

?kVdka'kh ekLyks gÓkaP;k xjtJs.kh flºkarkrhy

vkReizdVhdj.k vkf.k vkRelUekufo"k;d

xjtk tqˇ.kkÚ;k vkgsr-

(A) O;Drh O;Drhae/khy laca/k

(B) dk;Z ifjfLFkrh

(C) vkOgkukRed dk;Z

(D) i;Zos{k.kdk;kZpk ntkZ
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62. Which of the following is considered

a qualitative approach to job

analysis ?

(A) Position analysis questionnaire

(B) Interviews

(C) Department of Labour

Approach

(D) Functional job analysis

63. 360° feedback involves appraisals

by :

(A) Line Manager

(B) Subordinates

(C) Superiors

(D) Any one who is directly in

contact with appraiser

64. A carefully selected group of

employees who voluntarily meet on

regular basis to identify problems

and made recommendations

are :

(A) Quality audit

(B) Quality circle

(C) Quality control

(D) Quality assurance

62. iq<hyiSdh dk;Zfo'ys"k.kkcÌypk dks.krk

n`f"Vdksu  xq.kkRed  n`"Vhdksu  letyk

tkrks \

(A) fLFkrhfo'ys"k.kkRed iz'ukoyh

(B) eqyk[kr

(C) dkfeZd foHkkxkpk n`"Vhdksu

(D) dk;kZRed dk;Zfo'ys"k.k

63. 360° izR;kHkj.kk varxZr ewY;ekiu dks.kk}kjs

gksrs \

(A) lk[kˇh@js[kk O;oLFkkid

(B) dfu"B deZpkjh

(C) ojh"B deZpkjh

(D) ewY;ekihP;k izR;{k laidkZrhy dq.khgh

64. Lo;aLQwrhZus o fu;ehri.ks leL;k tk.kwu

?k s.;kdfjrk o f'kQkjlh dj.;kdjhrk

dkˇthiwoZd fuoM.;kr vkysyk deZpkÚ;kapk

lewg %

(A) xq.koŸkk vads{k.k

(B) xq.koŸkk orwŽ

(C) xq.koŸkk fu;a=.k

(D) xq.koŸkk geh
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65. Box ‘A’            Box ‘B’

(i) Wage curve (a) Employer denies

employees the

opportunity to work

(ii) Glass ceiling (b) Collective stoppage

of work by workers

(iii) Lockout (c) An invisible behaviour

that prevents women

from advancing to

higher level

(iv) Strike (d) Relationship between

the value of the job

and arrange wage paid

for the job

Consider the factors given in Box ‘A’

and Box ‘B’ and select the

appropriate order of action :

(A) (i)-(b) (ii)-(c) (iii)-(d) (iv)-(a)

(B) (i)-(d) (ii)-(c) (iii)-(a) (iv)-(b)

(C) (i)-(c) (ii)-(a) (iii)-(b) (iv)-(d)

(D) (i)-(a) (ii)-(d) (iii)-(c) (iv)-(b)

65. xV ^v*            xV ^c*

(i) osru@etqjh oÿ (a) ekyd@lsok;kstdkekQZr

dkexkjkauk dke dj.;kph

la/kh ukdkj.ks

(ii) Xykl flyhax (b) dkexkjka}kjs ,df=ri.ks

dke can dj.ks

(iii) Vk šcanh (c) efgykauk mPpikrˇhojhy

inkaoj dke dj.;kl

vVdko dj.kkjh vn`';

orZ.kwd

(iv) lai (d) dkekps ewY; o

dkekdjhrk fnyh

tk.kkjh ljkljh etwjh

;krhy laca/k

xV ^v* vkf.k xV ^c* e/khy ?kVd fopkjkr

?ks≈u lq;ksX; i;kZ;ÿe fuoMk %

(A) (i)-(b) (ii)-(c) (iii)-(d) (iv)-(a)

(B) (i)-(d) (ii)-(c) (iii)-(a) (iv)-(b)

(C) (i)-(c) (ii)-(a) (iii)-(b) (iv)-(d)

(D) (i)-(a) (ii)-(d) (iii)-(c) (iv)-(b)
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66. EXIM Bank can be described as

a ........................

(A) Non-banking Financial

Company

(B) Commercial Bank

(C) Non-banking non-financial

company

(D) Scheduled Bank

67. Organisation which is promoting

free trade is .................

(A) United Nations Development

Programme

(B) World Bank

(C) International Monetary Fund

(D) World Trade Organisation

66. ,D>he c°dsps o.kZu iq<hyizek.ks djrk ;sbZy

------------------------

(A) fcxj vf/kdks"k foŸkh; laLFkk

(B) O;kikjh c°d

(C) fcxj c°dhax fcxj foŸkh; laLFkk

(D) vuwlwfpr c°d

67. eqDr O;kikjkps leFkZu dj.kkjh laLFkk Eg.kts

----------------------

(A) la;qDr jk"V™ fodlu dk;Zÿe

(B) tkxfrd vf/kdks"k

(C) vkarjjk"V™h; uk.ksfu/kh

(D) tkxfrd O;kikj laLFkk
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68. Consider the following cost

conditions of goods (in terms of

labour) and labour cost of production

(in hours)

Country 1 Unit of 1 Unit of

Commodity A Commodity B

India 120 100

USA 80 90

Now determine which commodity

will be exported by U.S.A. :

(A) Commodity A

(B) Commodity B

(C) Both (A) and (B)

(D) Neither (A) nor (B)

69. In the balance of payment

indemnities paid by Foreigners

is ...................

(A) Import of goods

(B) Capital inflow

(C) Unrequited receipts

(D) Unrequited payments

68. oLrqfufeZrhP;k lanHkkZr (JekP;k :ikr) vkf.k

mRiknukP;k JeifjO;;kP;k lanHkkZr (rklkae/;s)

[kkyhy ckch y{kkr ?;k %

ns'k ekykps ,dd ekykps ,dd

(A) (B)

  Hkkjr 120 100

  vesfjdk 80 90

vkrk dks.krk eky vesfjdsyk fu;kZr dsyk tkbZy

rs lkaxk %

(A) eky A

(B) eky B

(C) nksUgh (A) vkf.k (B)

(D) (A) vkf.k (B) nksUgh ukgh

69. O;kikj'ks"kkr ijdh;kauh fnysyh {kfriwrhZ

Eg.ktsp -----------------

(A) ekykph vk;kr

(B) HkkaMoykpk var%izokg

(C) vleU;k; tek

(D) vleU;k; iznku
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70. Which one of the following methods

of protection depends for success on

the elasticity of demand for imports

being greater than unity ?

(A) Custom duty

(B) Canalisation

(C) Restriction on capital inflow

(D) Quantitative restriction

71. Income received and accrued or

arisen outside India from any

source is taxable in the hands

of :

(A) Ordinarily resident

(B) Not ordinarily resident

(C) Non-resident

(D) All assessees

70. vk;krhr oLrqP;k ekx.khph yofpdrk

,dkis{kk vf/kd vlY;kf'kok; laj{k.kkph

[kkyhyiSdh dks.krh iºr ;'kLoh gks≈ 'kdr

ukgh \

(A) vk;kr 'kqYd

(B) izokghdj.k

(C) HkkaMoykP;k izos'kkoj fuc±/k

(D) la[;kRed fuc±/k

71. Hkkjrkckgsj feˇkysys vkf.k mikftZr fdaok

mnHkoysys dks.krsgh mRiUu ------------------ ;k

gkrkr djik= vlrs-

(A) lkekU; fuoklh

(B) usgeh lkekU; ulysyk fuoklh

(C) vfuoklh

(D) loZ izdkjps djnkrs
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72. An individual left India

permanently on 25th December

2011. The assessment year for the

income earned till his departure

shall be :

(A) AY 2011-12

(B) AY 2010-11

(C) AY 2012-13

(D) AY 2013-14

73. Mr. Ajay took a loan of

Rs. 20,00,000 at 10% p.a. on 1-7-2008

for construction of a house which

is let-out. The construction was

completed in the previous year 2010-

11. The amount of interest

deductible u/s 24 of Income Tax

Act, 1961 for A.Y. 2012-13 assuming

that only interest is paid from date

of loan, will be :

(A) Rs. 2,00,000

(B) Rs. 1,50,000

(C) Rs. 2,70,000

(D) Rs. 2,80,000

72. ,dk O;Drhus fn- 25 fMlsacj 2011 jksth

Hkkjrns'k dk;epk lksMyk- R;k rkj[ksi;±rP;k

R;kpk mRiUuklkBh djfu/kkZj.k o"kZ dks.krs

vlsy \

(A) dj vkdkj.kh o"kZ 2011-12

(B) dj vkdkj.kh o"kZ 2010-11

(C) dj vkdkj.kh o"kZ 2012-13

(D) dj vkdkj.kh o"kZ 2013-14

73. Jh vt; ;kauh ?kjcka/k.khlkBh O;kt nj 10%

izfro"khZus  20,00,000 #-  dtZ fnukad

1 tqyS 2008 jksth ?ksrys vkgs- gs ?kj R;kauh

HkkMÓkus  fnysys  vkgs-  ?kjkps  cka/kdke

2010-11 ;k iwoZ o"kkZr iw.kZ >kys- R;kauh

vkti;±r QDr dtkZps O;ktp Hkjys vkgs-

vk;dj dk;|krhy dye 24 uqlkj O;ktkph

djvkdkj.kh o"kZ 2012-13 lkBh fdrh otkoj

feyš  \

(A) 2,00,000 #-

(B) 1,50,000 #-

(C) 2,70,000 #-

(D) 2,80,000 #-
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74. Gross total income of Mr. A for A.Y.

2012-13 is Rs. 6,00,000. His savings

and investments during the previous

year were :

(1) P.P.F. Rs. 50,000

(2) R.P.F. contribution Rs. 12,000

(3) Purchase of infrastructure

bonds Rs. 40,000

Deduction under chapter VI A will

be :

(A) Rs. 1,02,000

(B) Rs. 1,00,000

(C) Rs. 82,000

(D) Rs. 62,000

75. Under statement of income in the

return of income is called as :

(A) Tax planning

(B) Tax management

(C) Tax evasion

(D) Tax avoidance

74. Jh ^v* ;kaps djvkdkj.kh o"kkZps ,dw.k ldy

mRiUu 6,00,000 #- vlwu R;kaP;k iwoZ o"kZ

2012-13 e/khy cprh o xqaro.kwdh iq<hy

izek.ks vkgsr %

(1) lkoZtfud Hkfo"; fuokZg fu/khr tek

50,000 #-

(2) ekU;rkizkIr Hkfo"; fuokZg fu/khr tek

1,2000 #-

(3) ewyHkwr lqfo/kk dtZjks[;kph [kjsnh

40,000 #-

vk;dj dk;|krhy izdj.k VI A uqlkj
-------------------- jdesph otkoj fe š̌ -

(A) 1,02,000 #-

(B) 1,00,000 #-

(C) 82,000 #-

(D) 62,000 #-

75. vk;dj fooj.k i=kr mRiUu deh nk[kfoY;kl

R;kl ------------------- Eg.krkr-

(A) dj fu;kstu

(B) dj O;oLFkkiu

(C) dj pqdfo.ks

(D) dj Vkˇ.ks



33 [P.T.O.

FEB - 50313/III

ROUGH WORK



34

FEB - 50313/III

ROUGH WORK



35 [P.T.O.

FEB - 50313/III

Time Allowed : 2½ Hours] [Maximum Marks : 150

Number of Pages in this Booklet : 36 Number of Questions in this Booklet : 75

Signature and Name of Invigilator

1. (Signature) .........................................

     (Name) ................................................

2. (Signature) .........................................

     (Name) ................................................

Seat No. 

(In figures as in Admit Card)

Seat No. ..............................................................
                                         (In words)

   OMR Sheet No. 

                         (To be filled by the Candidate)

Paper-III

COMMERCE

FEB - 50313

M
Test Booklet No.

iz'uif=dk ÿ-

Instructions for the Candidates
1. Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.
2. This paper consists of 75 objective type questions. Each question

will carry two marks. All questions of Paper-III will be compulsory,
covering entire syllabus (including all electives, without options).

3. At the commencement of examination, the question booklet
will be given to the student. In the first 5 minutes, you are
requested to open the booklet and compulsorily examine it as
follows :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

4. Each question has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below on
the correct response against each item.
Example : where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.

6. Read instructions given inside carefully.
7. Rough Work is to be done at the end of this booklet.
8. If you write your Name, Seat Number, Phone Number or put

any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you  will render yourself liable to disqualification.

9. You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table, etc., is prohibited.
12. There is no negative marking for incorrect answers.

A B D

fo|kF;k±lkBh egŸokP;k lwpuk
1. ifj{kkFkh±uh vkiyk vklu ÿekad ;k i`"Bkojhy ojP;k dksiÚ;kr fygkok-

rlsp vki.kkal fnysY;k mŸkjif=dspk ÿekad R;k[kkyh fygkok-
2. lnj iz'uif=dsr 75 cgqi;kZ;h iz'u vkgsr- izR;sd iz'ukl nksu xq.k

vkgsr- ;k iz'uif=dsrhy loZ iz'u lksMfo.ks vfuok;Z vkgs- lnjps iz'u
gs ;k fo"k;kP;k laiw.kZ vH;klÿekoj vk/kkfjr vkgsr-

3. ijh{kk lq: >kY;koj fo|kF;kZyk iz'uif=dk fnyh tkbZy- lq#okrhP;k 5
feuhVkae/;s vki.k lnj iz'uif=dk m?kMwu [kkyhy ckch vko'; riklwu
igkO;kr-
(i) iz'uif=dk m?kM.;klkBh iz'uif=dsoj ykoysys lhy m?kMkos-

lhy ulysyh fdaok lhy m?kMysyh iz'uif=dk fLodk: u;s-
(ii) ifgY;k i`"Bkoj uewn dsY;kizek.ks iz'uif=dsph ,dw.k i`"Bs

rlsp iz'uif=dsrhy ,dw.k iz'ukaph la[;k iMrk w̌u igkoh-
i`"Bs deh vlysyh@deh iz'u vlysyh@iz'ukapk pwdhpk
ÿe vlysyh fdaok brj =qVh vlysyh lnks"k iz'uif=dk
lq#okrhP;k 5 fefuVkrp i;Zos{kdkyk ijr ns≈u nqljh
iz'uif=dk ekxowu ?;koh- R;kuarj iz'uif=dk cnywu
feˇ.kkj ukgh rlsp oš gh ok<owu feˇ.kkj ukgh ;kph œi;k
fo|kF;k±uh uksan ?;koh-

(iii) ojhyizek.ks loZ iMrkˇwu ifgY;kuarjp iz'uif=dsoj
vks-,e-vkj- mŸkjif=dspk uacj fygkok-

4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh pkj fodYi mŸkjs fnyh
vkgsr- R;krhy ;ksX; mŸkjkpk jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks
dkˇk@fuˇk djkok-
mnk- % tj (C) gs ;ksX; mŸkj vlsy rj-

5. ;k iz'uif=dsrhy iz'ukaph mŸkjs vks-,e-vkj- mŸkjif=dsrp n'kZokohr-
brj fBdk.kh fyghysyh mŸkjs riklyh tk.kkj ukghr-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. iz'uif=dsP;k 'ksoVh tksMysY;k dksÚ;k ikukojp dPps dke djkos-
8. tj vki.k vks-,e-vkj- oj uewn dsysY;k fBdk.kk O;frjh‰ brj dksBsgh

uko] vklu ÿekad] Qksu uacj fdaok vkš [k iVsy v'kh dks.krhgh [kw.k
dsysyh vk< w̌u vkY;kl vFkok vlH; Hkk"kspk okij fdaok brj xSjekxk±pk
voyac dsY;kl fo|kF;kZyk ijh{ksl vik= Bjfo.;kr ;sbZy-

9. ijh{kk laiY;kuarj fo|kF;kZus ew̌  vks-,e-vkj- mŸkjif=dk i;Zos{kdkadMs
ijr dj.ks vko';d vkgs- rFkkih] iz'uif=dk o vks-,e-vkj- mŸkjif=dsph
f}rh; izr vkiY;kcjkscj us.;kl fo|kF;k±uk ijokuxh vkgs-

10. Q‰ fuˇÓk fdaok dkˇÓk ckWy isupkp okij djkok-
11. dWyD;qysVj fdaok ykWx Vscy okij.;kl ijokuxh ukgh-
12. pqdhP;k mŸkjklkBh xq.k dikr dsyh tk.kkj ukgh-

A B D


